Try this related rates problem.
The set up is the same as our recent daily check, but it’s asking for a different rate!
(See answer on next page.)

An observer watches a rocket launch from a distance of 2 kilometers. The angle of elevation 0

. . T . . T
is increasing at 0 radians per second at the instant when 6 = e

At what rate is the distance between the rocket and the observer increasing at that instant? Leave
answer in exact form.
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At what rate is the distance between the rocket and
observer increasing at that instant? (Leave answer in exact
form in terms of 7.)
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